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Odtdt &E0tE EHYZ EXISA 25,000
O&dt Ots, 2k 7 gdgE HISA 50,000
Og& MEXT B2 HHISA 45,000
Oge g7 g2 FHISA 25,000
O=Et MAIOtS EHYZ ZHISA 30,000
Osoll =0t €= ZHISA 25,000
OLEZ XA & IR 23A 50,000
clAl A2 |A22H XI& 210,000 210,000 0
307 21201 & 60,000 60,000
02 QB HANEER 60,000 60,000
S22 £2IAE SR NR(FIIL
2 S) 60,000
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01 Al&H| 150,000 150,000
O==cl|Hl F=clAlE FXl2el 150,000
Izl o sd8) (HMEAY) 1,220,000 1,220,000 0
401 AIZHIX S0HH 920,000 920,000
01 AlZH| 920,000 920,000
OJIHSEHZ LAY 920,000
403 AXIEHHSA=201H 300,000 300,000
02 S 2SOt et = & 2 E AL H] 300,000 300,000
OJIAGBAZ SHETAS () 300,000
KS=81 ASA S (5018 100,000 100,000 0
= 30,000
= 70,000
401 Al HIZL 2018 100,000 100,000 0
= 30,000
Ea 70,000
01 A28l 100,000 100,000 0
OXIH=2I2A4 9| (=2l Al ) 100,000
O72t NS M=K A 100,000
< 30,000
[Ea 70,000
SI|BHEYI (M EAY) 200,000 0 200,000
= 172,000
= 28,000
403 AXIEHMSAH=0ld 200,000 0 200,000
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Ea 28,000
02 SISO St =2 A 2 E A I 200,000 0 200,000
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s 172,000
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401 AIEHIZ SR THYI 200,000 0 200,000
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[Ea 20,000
01 Al&H| 200,000 0 200,000
OOt X+ =2 ZXNFCIA 200,000
& 180,000
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SHX T SHi=2 FHIAIS (HEALY) 500,000 100,000 400,000
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Ea 70,000
403 MR EHSAHE01H 500,000 0 500,000
=S 430,000
s 70,000
02 SO 2SOt stA=2H 2 €A H] 500,000 0 500,000
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[ 430,000
Ea 70,000
S IHoH o 120,000 1,920,000 1,800,000
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i 50,000
OotdH AHME SUXHAIE AXIALS 63,000
= 31,500
2 31,500
OXIYoHE RXI2I(BHINA(DLE o
5IH4) 120,000
& 60,000
= 60,000
Rgots =LA (BX)(HEAD) 270,000 300,000 230,000
= 135,000
= 135,000
401 AlEHIZ 20| 270,000 300,000 A30,000
= 135,000
= 135,000
01 Al&HI 270,000 300,000 230,000
OXotd ELAME(FLR 22 2| 1HL) 150,000
& 75,000
= 75,000
OXILSHA =LA (CHOF 2EA) 120,000
& 60,000
i 60,000
Xesta X8 84X 2 HUl(BX) 14,000 13,200 800
= 7,000
= 7,000
401 AIEHIZL 28I 14,000 13,200 800
& 7,000
= 7,000
01 Al&Hl 14,000 13,200 800
OXILGIA EXIE AX L FHI(40L) 14,000
& 7,000
i 7,000
LIS (B X) 700,000 500,000 200,000
= 350,000
= 350,000
401 AlEHIZ 20| 700,000 500,000 200,000
= 350,000
o 350,000
01 Al&HI 700,000 500,000 200,000
OZE HIIA(MEXF) HUIA 200,000
& 100,000
i 100,000
Od4fel s (L XF) ZHIAY 200,000
= 100,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 100,000
O35t KA (ASXI7) ZHIAIY 300,000
== 150,000
[Ea 150,000
A0IE HES2elAAE 2= 70,000 70,000 0
= 35,000
= 35,000
401 AlEHIZ S 0HbI 70,000 70,000 0
= 35,000
Ea 35,000
01 AlZH| 70,000 70,000 0
A0t HEAAE RE(ESH) 70,000
= 35,000
s 35,000
oIS Ml HH 586,000 573,000 13,000
201 Ler23 | 196,000 188,000 8,000
01 At2t2ltl 196,000 188,000 8,000
014 DA, H=d JIgMEHI St 20,000
Ottt 2EA JILGMEHI Xt 6,000
Odtd =2 I MEEI &Rt 10,000
O3dtol FE& JIdMEHIYXL 15,000
Odel 246t JId S It 8,000
OCHIt THOHE JI- MBI Xt 10,000
0% IR JILMEHI Xt 8,000
082 2s40td JIGNEHI AR 10,000
OME H2& JIdMEHILXL 10,000
O+2t E240td 2 20a JI8MEHI SR 20,000
O3lst HHES JI-GMEHI Xt 15,000
o0ty 2S4A0td JIgME It 10,000
Solf JIE40td 2 2004 JId St 14,000
OXlgotd & aotd JIEMEHI LR 40,000
401 Al HIZL 201 390,000 385,000 5,000
01 Al&H| 390,000 385,000 5,000
Ond NEAE JIdMEHIAY 20,000
O1ud UsA JI8dHME8IAIE 20,000
Ottet FXIAE JIEMEHIAY 40,000
Ootd 2 JIGMEHIAIS 20,000
O3B0l AXI& JILHMEHIALS 30,000
Odel s JIdNEHIAIY 15,000
Odel Bl=201d JI4MEBIAE 15,000
Ot Z3td I MEHIAY 20,000
Ot SXsAcHe JIEMEHIALE 20,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZE FHE JISMEHIA 20,000
Og2 HEA JILGHMEHIAIS 50,000
O HEHE JIdMEHIA 20,000
Ot REHA J|HMEHIAL 20,000
O3l3t Al JIEMEHIALY 20,000
Oltg B8R40t JIGMEHIAE 20,000
OSoil HxA I MEBIALE 20,000
OHFE A JIdMEHIA 20,000
StE s XIZel (XEA) 464,100 574,100 A110,000
201 =3 14,100 14,100 0
2 S5=2g4l 14,100 14,100 0
O&SA =2 HJIR3
00,0002 122 1,200
OBid ABEY FII23
200,000 x 122 2,400
OA0HE HEZ2IAAE SRS
160,000 * 122 x50 2 9,600
OABIA HEREIANAY &I
15,0003 12 500 A& 900
401 AIEHIX SO 450,000 560,000 A110,000
01 AlZH| 450,000 560,000 110,000
Oy S =22l 10,000
Oy UsA Az FaAxH &1 50,000
Opotg g™ FA2AC|AY 80,000
O0ot0l Al=d R A2l AL 40,000
Ol A T2 A 30,000
OUJt ZEA FA2c| A 40,000
Ods 2 FA2AC|AY 40,000
O&2 HEAE FA2ACIAY 25,000
ONE HEE FA2c|AE 30,000
ONE Sotd FA2c| A 20,000
O3lst OAld FXI22|ALY 25,000
OSalf A FA2ACIAY 20,000
OSdll S8 FAACIA 20,000
OO0ty 28d =LA 20,000
ASEEH(ME) (D EALY) 2,800,000 2,812,334 A12,334
401 Al HIZ S OHYI 2,800,000 2,812,334 A12,334
01 AlZ2H| 2,800,000 2,812,334 A12,334
OLH ARLATHE FHIAMS (HE) 300,000
Ol BSAote ZHIAH (X&) 1,000,000
OHIE XIZAGHH FHIAIG (HE) 500,000
OT8t FEAGHH FHIAIY(HE) 1,000,000
2ot FH| 7,000 7,000 0
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rar=inl
=27 2 s I
SHE EHIAHY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 7,000 7,000
03 Al 2CHYI 7,000 7,000
OO0t ZHIAIYE Al R0 7,000
e AOHE HHIAY 920,000 915,000 5,000
401 AlEHIKL =] 920,000 915,000 5,000
01 AlZH| 915,000 910,000 5,000
O1d E=14ctd M FHHIA 40,000
ODY SHATHE LBHEH L
& 60,000
Otjet ZEEZAGHH HEA HHIALY 40,000
O7°10| SEAGHE HEH A 35,000
©3Jl0] At=AcHE dEd A 30,000
Odlel 2SAotd MEd IHIAY 35,000
Odfcl P40l M JHIAY 35,000
OUJt DtEAGHE M A 40,000
Ogd SliAotd 2 A 25,000
Og2 W=Acld M2 FHIAY 80,000
OMd =140t M2 FJHIAY 30,000
O+2t HSAotd M JHIAY 80,000
O3lat gatiotd e JHIAY 80,000
o0y Satiotd 423 A 50,000
Sofl &Jlacte dEd FHIAY 30,000
OSoff FAAold M JHIAY 40,000
ONF X140t A JHIAIY 35,000
ONF SS4icte d2d JHIAY 50,000
42 A6H N2 A 100,000
03 Al 20HHI 5,000 5,000 0
QN AotHIHIAY ALt 5,000
Aotz A2t 890,000 1,397,000 /507,000
401 Al HIZL 201 890,000 1,397,000 /507,000
01 Al&HI 885,000 1,390,000 505,000
O1d REA0td RA2c|AY 40,000
Ond SSIAGHH (ST =4 & 4 30,000
Oatt 2540t 722 50,000
Oatbt €orAotE RAI2tel At 60,000
Ootd BEAcHE RA2ACIAY 25,000
©ot0l F=4A0td =Al2c| A 40,000
Od4lel MESAGHE FXIZ2lAY 40,000
Odel S=40td FA2elArd 40,000
Ogd €&E4A0ld FA2AcIAY 35,000
Ogs HEASHE RA2AcIAY 40,000
O SXIAote RA2ACIAY 30,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O+t 3EAGHE FAI2c| A 80,000
0323t S%A0td RAl2c| A 40,000
O32|at Ataaotd MYEHE 70,000
OO0ty s3taote KRA2ACIALY 50,000
OSdlf §E4A0IE FA2c| A 30,000
Ol @sA0td RA2c|AY 30,000
ONF dS4acte RAACIAY 30,000
OHF Sbtaotd 722l Ak 25,000
OAE Aot FAI22AS 100,000
03 Al 20HHI 5,000 7,000 /2,000
OATHE SXI2CIAIY AlESHYI 5,000
SHEZHIJ] At 392,000 375,000 17,000
101 @124H| 80,000 80,000 0
04 JIZtN2 2N S 2+ 80,000 80,000 0
OJIEZHIDIALY o124 80,000
201 et 3| 303,000 285,000 18,000
01 AtR2te|Hl 303,000 285,000 18,000
OOJIA SHIDIAIY ZHIYXt 30,000
0Ly U=d ZSHIIIAIL 20,000
O1d SUd SHIIIAI 20,000
01y 53 EHIIIAE 15,000
Oy N8 ZSHIIIA 20,000
O&tat IXAE SHIDIAIS 5,000
Ostd stEd 2 DL SHDIIAIE 10,000
©7ot0l SSA 2 2 ZSHIDIAE 20,000
Odel oS 2 1A SHIIIA 8,000
OUIt Ut SHIDIAI 15,000
Ogs & 2 L SHIIAE 20,000
082 A 2 1A SHIIIAY 20,000
O S22 ZHIIIAY 15,000
o=t FEA ZHIDIA 15,000
O3zt BHEA 2 20 SHIDIAE 15,000
OltY Dtad SHIJIAI 20,000
Osol S&E SHIIIAIE 20,000
ONF A SHIIIALY 15,000
206 M=l 9,000 10,000 1,000
01 M= HI 9,000 10,000 21,000
OddZHIDIMNY =257 9,000
old DI=28X 24 30,000 50,000 220,000
401 Al HIZL 01| 30,000 50,000 /20,000
01 Al&H| 30,000 50,000 /20,000
o0l g2 EXl 243 30,000
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SA: AT
g =103 & ot& 3|
ctel: ol AN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEste =2 +SHE 9 70,000 70,000
401 AIZHIYL S OHE 70,000 70,000
01 Al&HI 70,000 70,000
OdHiold 53 +EHE =9 70,000
HY2AZHI(ALEM) 72,526 69,700 2,826
JlE2Zdel(A4) 72,526 69,700 2,826
23| 24,458 26,000 A1,542
201 2= 24,458 26,000 A1,542
01 At2t2ltl 23,508 25,000 N1,492
Oggt=ZH| 17,000
(OF=Ets] 9,000 x 172 +34!x 12 5,508
OAHEI|H £EA HAAS €285 Y 1,000
02 S3=gHl 950 1,000 A50
(OF=g=pagestal 950
O] 42,768 38,400 4,368
202 04| 42,768 38,400 4,368
01 2LHoIH 3,600 24,000 A20,400
O=LH04HI 300,000& 122 3,600
02 A0 39,168 14,400 24,768
OZH0bI 240,000 x 122 17 +80% 39,168
Y =B 5,300 5,300 0
203 =8| 5,300 5,300
03 A=A PR FZ| 500 500
OAdey PRI 500
M FA2HARFAI 4,800 4,800 0
ORNSgERF=AHI
400,000 123 4,800




